gini = 0.0247
samples = 2077
value = [2051, 26]

courttype <= 5.5
gini = 0.3715
samples = 3715
value = [2799, 916]

Trui/

\ialse

time_to_plea <= 313.5
gini = 0.2739
samples = 3316
value = [2773, 543]

gini

=0.1218
samples = 399
value = [26, 373]

N

plea <= 1.5
gini = 0.1596
samples = 3018
value = [2754, 264]

/

N

NPleaDates <= 4.

gini = 0.0538
samples = 2456

value = [2388, 68]

gini = 0.1194
samples = 298
value = [19, 279]

5 time_to_plea <= 147.5
gini = 0.4542
samples = 562

value = [366, 196]

l

NcourtDates <= 13.5

gini = 0.1971
samples = 379

value = [337, 42]

'

e

NcourtDates <= 15.5
gini = 0.3034
samples = 370

value = [301, 69]

/o \

gini = 0.0793
samples = 266
value = [255, 11]

gini = 0.3982
samples = 113
value = [82, 31]

gini = 0.1437
samples = 231
value = [213, 18]

gini = 0.4646
samples = 139
value = [88, 51]

NcourtDates <= 12.5
gini = 0.4479
samples = 192

value = [65, 127]

'

possible_outcome <= 0.5
gini = 0.4339
samples = 66

value = [45, 21]

gini = 0.2671
samples = 126
value = [20, 106]

VAN

gini = 0.3878
samples = 19
value = [5, 14]

gini = 0.2535
samples = 47
value = [40, 7]




